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When 100 screws were randomly selected from mass-produced screws and
their lengths were measured, the average length was 40.0 mm,

with a standard deviation of 1.0 mm.

Find the confidence interval with a confidence level of 95%.
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The standard deviation of the heights of high school boys is 5 cm.
I want the width of the average height section to be 1 cm.
How many people should be sampled to achieve 95% reliability ?
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When 1600 parts were randomly selected from the manufactured parts
and inspected, 320 were found to be defective.
Estimate the proportion of defective parts p with a confidence level of 95%.
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When 400 cans of coffee are weighed, the average weight is 190.0 g,
and the standard deviationis 1 g.

Find the confidence interval with a confidence level of 95%.
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The approval rate for the 10% consumption tax is expected to be around
60%. For this approval rate, I would like the width of the confidence interval
at 95% confidence to be 5% or less. How many people should I sampling?
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When 300 students at a school were randomly selected and examined, 75 had
cavities. Estimate the proportion p of students with cavities with 95% confidence.
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When 900 screws were randomly selected from mass-produced screws and
their weights were measured, the average weight was 10.0 g, with a

standard deviation of 0.3 g.
Find the confidence interval with a confidence level of 95%.
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The viewership rating for a certain program is expected to be approximately
10%. For this viewer rating, we want to make the width of the confidence
interval with a confidence level of 95% less than 1%.

How many people should I sampling?
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When 600 students at a certain school were randomly selected and tested,
240 were found to wear glasses. Estimate the proportion p of students
wearing glasses with 95% confidence.
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When 10000 cans of coffee are weighed, the average weight is 185.0 g,
and the standard deviationis 1 g.
Find the confidence interval with a confidence level of 95%.
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The approval rate for changes to the constitution is expected to be around
60%. For this approval rate, I would like the width of the confidence interval
at 99% confidence to be 2% or less. How many people should I sampling?
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When 400 screws were randomly selected from mass-produced screws and
their weights were measured, the average weight was 5.0 g, with a
standard deviation of 0.02 g.

Find the confidence interval with a confidence level of 95%.
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400 students at a certain school were randomly selected and their blood
types were investigated, and 144 were type A. Estimate the proportion p of
type A students with 95% confidence.
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A political party's approval rating is expected to be around 10%. For this
approval rate, we would like to set the width of the confidence interval at
99% confidence to 2% or less. How many people should I sampling?
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100 students at a certain school were randomly selected and their blood
types were investigated, and 20 were type B. Estimate the proportion p of
type B students with 95% confidence.




